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Some formulas you may need: 
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1. (10 points) Agriculture: Groundwater  Unfortunately, arsenic occurs naturally in some groundwater. A 

mean arsenic level less than 8.0 parts per billion (ppb) is considered safe for agricultural use. A well in Texas is 

used to water crops. This well is tested on a regular basis for arsenic. A sample of 8 tests of this well lead to the 

arsenic levels in the table below.  

 

Arsenic Level (ppb)   

7.7 8.1 7.9 8.2 

8.1 7.8 7.9 7.6 

 

 

Does the data indicate that the level of arsenic in this well is safe for agricultural use at the 0.01 significance 

level?  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Extra Credit 

 

1. (3 points) What does the 0.01 mean when a hypothesis test is performed at the 0.01 significance level? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. (1 point) What is a type I error? 

 

 

 

 

 

3. (1 point) What is a type II error? 

 

 

 

 

 

 

 


